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#£-4.5.1 HFEIRITHN S B F R O YIEEEREE & O HEE

FHIE A
R — s
Tk FE4 (%) SR ZAJEk 5 (%) 1588 FE (%) pH  EC(us/cm)
2 64.86 3.02 8.8 7.63 425
. 3 39.36 8.85 21.21 5.82 743
7 44.38 6.89 17.64 5.99 86.6
8 32.76 7.66 17.33 5.89 96.3
FHBAER S 1 -0.925 -0.868 0950  -0.934
P2 1 0.855 0.753 0.903 0.873
F-4.5.2 KFF NI B EZERIRRE 0 YRS & D HHEY
ot A
L‘ (1=} .
- WIER)  WERE%)  HEEEO)  pH  EC(uslem)
2 64.86 2.59 7.97 7.98 329
. 3 39.36 8.59 20.09 6.07 433
7 44.38 6.47 16.09 6.12 39.9
8 32.76 8.53 18.09 6.05 68.4
FHEIFREL 1 -0.977 -0.939 0.949 -0.802
r2 1 0.955 0.882 0.900 0.643
*-4.5.3 R I I 2 BEREO YR & 0iHEE
2 WEFR
Mg %)  FREMH E(%) 150 (%) pH  EC(us/cm)
2 64.86 3.45 9.63 7.28 52
" 3 39.36 0.11 22.32 5.57 105.3
7 44.38 7.31 19.19 5.87 133.2
8 32.76 6.78 16.57 5.73 1241
FHBAFR S 1 -0.809 -0.767 0.949  -0.863
r2 1 0.654 0.589 0.900 0.745




F-4.54 HHFEEICT T 3 LB L OFHEY

FEFEAR (%) T3 B (mm)

2 64.86 36.8
3 39.36 33.4

Hh
7 44.38 32,6
8 32.76 29.4
FHEIFREL 1 0.930
r2 1 0.864
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